7

LINGS & ADAPTORS - BRASS & STEEL FITTINGS

BRASS & STEEL FITTINGS

DOT AIRBRAKE PUSH-IN FITTINGS - GOU

\
) IRUCIKFROBDYUGKS

a2
@ gptruckproducts.com.au

DOT AIRBRAKE PUSH-IN FITTINGS

) STYLE MDQ68DOT ' OV
MALE CONNECTOR
Metrtc Tube to Metric Thread
TUBEO.D  METRIC 7 7
PART No (MM)  THREAD <& ((/ @
MDQ68DOTEM10 M10x1.0 g -~ S0 B0 e e STYLE GP-920 STYLE GP-951 STYLE GP-576 >
TYLE DQ69DOTS FEMALE ADAPTOR - SEALING MALE COUPLING - NON SEALING STYLE GP-064 HOSE BARB FEMALE RUN TEE
STYLE MDQ68DOT6M12 M12x1.5 SWIVEL MALE ELBOW MALE BRANCH TEE el sl STYLE GP-024 PLUG HEX Imperial / Mefric Includes Thrust Washer & O-Ring STYLE GP-3405
DQ@65DOT / MDQ65DOT MDQ68DOTEM14 6 M14x1.5 Imperial Tube fo Metric Thread Imperlal Tube fo NPTF Male Pipe Thread AT i bt REDUCING BUSHES Metric Includes Thrust Washer & O-Ring oART# . ;TEST T°|NT
- PART # X-REF NPT mperia
STYLE DQ54DOT UNION ELBOW MDQ6BDOTEM 16 M16x1.5 OARTN ruseop  METRIC oARTNo Tuston  NPTE imperil 2=y
45° MALE ELBOW Imperial and Metric Tube MDQ68DOTEM22 M22x1.5 c : THREAD . THREAD GP-920-04 CA93-88 14 GP-951-04 CA93-83 14 STYLE GP'027 PART # METRIC STYLE GP'073 STYLE GP'450 GP-576-08M16F06 12 M16 38 PART # NPTE
Imperial Tube to NPTF Male Pipe Thread : DQ69IDOTS04AM12 1/4 M12x1.5 DQ72D0T0404 1/4 PART # NPSF NPT HEX NIPPLE UNEQUAL HEX NIPPLE 45 DEG HOSE BARB
PART No TUBE 0.0 MDQ68DOTEM10 M10x1.0 il " GP-92006  CA93-89 38 GP-951-06  CA93-84 38 Metric - Includes Nu, Thrust Washers & O-Rings Ha b - imperial GP-3405-06 38
NPTF
PART N TUBE 0.D DQ72D0OT0406 3/8 GP-024-
o THREAD DQ5DOTS/32 5132 MDQ68DOTEM12 M12x1.5 RO A 4 GP-920-08  CA93-90 112 GP-951-08  CA93-85 1) 0208 e b PART # METRIC GP-064-M14A M14 AT - - PART # HOSE NPT
DQ54D0T0402 18 DOE5D0TO " MDQ6BDOT8M14 8 M14x15 DOGEVOIRURIN f | PR DAL 14 GP-024-0206 /8 38 5P-027-M22A V22 GP-064-M16A M16 el "2 38 TSIJS¥I;E)I§I:’TP-3405
DQ54D0T0404 1/4 1/4 DQE5D0TO06 38 MDQ68DOT8M16 M16x1.5 DQ69DOTS06M16 M16x1.5 zgzgg:zzg: 3/8 3/8 \ GP-024-0208 1/8 12 GP-064-M22A - GP-073-0402 1/4 1/8 Metric Includes Thrust Washer & O-Ring
7 12 073-
00540070405 28 DQE5DOTOS " mnuesnomlvlzz M22x1.5 DO6IDOTSO6M22 M22x1.5 / GP-024-02012 18 38 14 comes with flat washer only GP-073-0602 3/8 18 PART # METRIC
DQ68DOT10M10 M10x1.0 DQ69IDOTSO08M16 M16x1.5 DQ72D0T0806 3/8 -073-
DQ54D0T0602 1/8 MDQ65D0T6 6 mm e " i 12 D072D0T0808 1/2 " GP-024-0406 1/4 3/8 GP-073-0604 3/8 1/4 GP-3405-M16A M16
: Q69D0TS08M22 M22x1.5 S
DQ54DOT0604 1/4 MDQ65DOTS 8 mm MDQ6SDOTIOM14 10 Midxi . A daad EEHEL U2 12 BP-073-0008 i v ﬁcTa\s(é- EA?BPBRSZNSCH TEE —
38 x1.5 FEMALE ADAPTOR - NON SEALING o _ _ & >
DQ54D0T0606 3/8 MDQ65D0T10 10 mm MDQ68DOT10M16 M16x1.5 STYLE MDQ69DOTS Imperial GP-024-04012 1/4 3/4 -073-0804 1/2 1/4 Imperial / Metric
SWIVEL MALE ELBOW _073- - MALE &
DO54D0TO608 2 MDQ65DOT12 12mm MDQ68DOTI0M22 M22x1.5 ol ol PART # X-REF NPSF P o GP-024-0608 3/8 112 GP-073-01204 4 174 ‘:'gé'ﬁ AfBP_ 570 PART # HOSE “yr FEM
DQ54D0T0804 " MDQ6sDOTIZM12 M12x1.5 AT N TBEOD  METHC GP-921-04  CA93-21 ” COUPLING ADAPTOR PLATE GP-024-06012 38 3/4 GP-073-01206 3/4 3/8 l'n':’LZE:IAL THREADS GP-575-08MIBMIGFA 12 M6  M16
12 MDQ68DOT12M14 M14x1.5 READ Imperia TY . . i
DQ54D0T0806 38 12 — GP-921-06  CA93-22 38 GP-024-08012 112 34 go lezg g,’; A(L]S’ I?LBOW GP-073-01208 34 12 STYLE XD-16
MDQ68DOT12M16 M16x1.5 MDQ69DOTSEM10 M10x1.0 2 GP-921-08 CAG3-23 12 PART # X-REF NPSF mperial R T PART # HOSE NPT HEX HEAD DRAIN COCK
DQ54D0T1006 3/8 MDQ68DOT12M22 M22x1.5 ' ha : - 7 Imgeqal
oo 5/8 y— MDQ6IDOTS6M12 M12x1.5 STYLE DQ72DOTS / GP-93-A420  SB420 1/2 PORTS gET[\)(uchngpsuosEfs PART # . STYLE GP-072 UNEQUAL HEX NIPPLE GP-570-0402 1/4 178
54D0T1008 12 BDOTIEMIG  Mibx15 MDOBIDOTSEMIE 6 Mi6xl5 e VETALE B RANCH.IEE N, RED STYLE GP-072 o 6P -570.0404 " " PART # DRAIN COCK
STYLE DQ66DOT MDQ68D0T16M22 M22x1.5 MDQ69D0TSEM18 M18x1.5 Imperial Tube to NPTF Male Pipe Thread iim oARTH \PSF NPT GP-034-02 1/8 Imperial to Imperial PART # NPT METRIC GP-570-0406 1/ 3/8 XD-16 1/4 NPT HEX HEAD
STYLE MDQ68DOT PART No TUBEOD  NFTE = GP-034-04 1/
REMALE CONNESTOR MALE CONNECTOR \MDAsSDOTSeNM22 2219 R GP-024-MI6M22A  M16 M2 PART R I GP-073-04M12A  1/4  M12 GP-570-0604 e e
Imperial Tube to NPTF Female Pipe Thread X R - o
Metric Tube fo BSPT Male Pipe Thread MDQ69D0OTS8M12 M12x1.5 DQ72D0TS0402 1/8 GP-034-06 3/8 GP-570-0606 3/8 3/8
PART N JUBEQD | _NPTF MDOBIDOTSEM16 g M16x1.5 DQ72D0TS0404 14 ” MALE ADAPTOR - SEALING o GP-072-0202 /8 1/8 GP-073-04M16A 1/4 M16 90 DEG HOSE BARB
0 ! x1. . P-034-08 12 570-
e e T v MDQ8IDOTS8M22 M22x1.5 DQ72D0TS0406 38 e : GP-072-0402 1 GP-073-06MIGA 38 M16 GP-570-0608 Do - ooy
DQ66DOT0302 3/16 /8 x1. GP-034-012 3/4 GP-570-08012 112 3/4 R .
MDQ6SDOTB04RK 6 14 E——— PART# YCREF NPT STYLE GP-93 GP-072-0404 14 14 GP-073-06M22A 38 M22 NPT
DQ66D0T0402 1/8 MDQ69DOTS10M12 M12x1.5 1/8 GP-570-0802 1/2 1/8 STYLE XD-16
COUPLING DUST COVER / GP-579-0402
1/4 MDQ68DOT806RK 38 GP-930-04  CA93-91 1/4 , GP-072-0602 38 /8 GP-073-012M22A  3/4 M22 174 /8
— DQ66D0T0404 1/4 R 8 - MDQ69DOTS1OM16 10 M16x1.5 DQ72D0TS0604 3/8 1/4 Insert into couplings - Impetial GP-570-0804 12 1/4 WING NUT DRAIN COCKS
o I " - H Imperial
STYLE DQ54DOTS e ” — " MDQ6IDOTS10M22 M22x1 5 DQ72D0TS0606 38 EE 222 E: E’::z z; ?jz oART 4 COUPLING DUST COVER GP-072-0604 R GP-073-MIBM2A M6 M22 b 70,0500 B R EP 579-0602 3/8 18
° e - GP-072-0606 3/8 3/8 P-579-0604 3/8 1/4 PART # DRAIN COCK
Itrlnierf]\ll\gt\)/:l; mﬁbi:;zgqu DQ66DOTO606 3/8 3/8 MDQ68DOT1206RK o 38 MDQ69D0TS12M12 M12x1.5 DQ72D0TS0804 1/4 GP-93-79 Domed with chain STYLE GP-073 GP-570-0808 12 1/2 5P 579.0606 " 8 {D-16.09 NPT W
- DQB6DOT0608 112 MDQ68DOT1208RK 12 MDQ6IDOTSIZMIE 12 MI6x15 DQ72D0TS0806 112 3/8 GP-072-0804 2 L e ity LR GP-570-01004 5/8 14 o L8 ING NUT
PART N T I _£70. -16-
0 UBEOD  ryReap DQ66D0TO804 1/4 MDQ69D0TS12M22 M22x1.5 DQ72D0OTS0808 12 STYLE GP-025 GP-072-0806 1/2 3/8 GP-570-01006 5/8 3/8 GP-579-0608 3/8 12 XD-16-04W 1/4 NPT WING NUT
PART # NPT NPT -16-
DQ54D0TS0402 - 1/8 DQ66D0TO806 12 3/8 MDQ69DOTS16M22 16 M22x1.5 90 DEG MALE - FEMALE ELBOW GP-072-0808 1/2 1/2 GP-570-01008 5/8 12 GP-579-0806 1/2 3/8 XD-16-06W 3/8 NPT WING NUT
| ial -1R-
DQ54DOTS0404 1/4 DQB6DOT0808 12 STYLE GP-931 mpeta STYLE GP-035 GP-072-01208 P CRUE0EEN At /4 GP-570-010012 58 3/ GP-579-0808 12 12 N
MALE ADAPTOR - NON SEALING
DQ54DOTS0602 18 imperii PART R sy GP-072-01208 v 38 GP-073-012088 3/ 12 GP-570-01208 34 12 GP-579-01006 5/8 38
DQ54D0TS0604 3/8 1/4 o X-REF NPT e GP-025-02 1/8 1/8 o \psr 0 GP-570-012 3/4 3/4 GP-579-01008 5/8 1/2
PAADOTS0608 e STYLE DQ69DOT - GP-931-04  CA93-18 14 ADAPTOR DUST COVER GP-025-0402 [ 118 A= B 20 S ! GP-579-01208 3/4 12
sl - GP-035-02 /8
Place over adaptors GP-025-04 1/4 1/4 L o
DASDOTS0R0! " |MAL'E| ftB?VI\YPTF Male Pipe Thread fl;rl\rkl.EE RBQO7W0DOT STYLE MDQ72DOTS GP-931-06 CAS3-19 38 ADAPTOR DUST / / GP-035-04 1/4 op-eTe-on2 I o
mperial lube 10 ale Pipe req: a :
DQ54D0OTS0806 172 3/8 © Imperial Tube o NPTF Female Pipe Thread SWIVELMALE.BRANCH TEE GP-931-08 CA93-20 1/2 Gl COVER GP-025-0604 3/8 1/4
STYLE DQ68DOT PART No TuBeoD . NPTF z e (PP UCSICE T et FpsTiNe o GP-035-06 3/8
DA54D0OTS0808 12 MALE CONNECTOR B R PART N TUBEO.D  NETF GP-93-81 With chain GP-025-06 el e .
- - DQG9DOTE/3202  5/32 18 ’ ~ THREAD PART No U e - GP-035-08 12 STYLE XD-16
DQ54D0TS1008 5/8 12 Imperial Tube to NPTF Male Pipe Thread (MM) THREAD 73 GP-025-08 1/2 1/2 STYLE GP-072
DQ69DOTO302 18 DQ70D0TO402 /8 PULL CHORD DRAIN COCK
DOS4DOT PART No Tugeop  THREAD 316 /4 MDQ72D0TS602 /8 _ GP-025-012 3/4 3/4 STYLE GP-035 ADAPTOR - BRASS STYLE GP-082 Imperial
54D0TS1208 3/4 1/2 NPTF DQ6IDOT0304 14 DQ70D0T0404 1/4 6 - Imperial Female to Metric Male FEMALE - FEMALE
DQ68D0T5/3202 5/32 1/8 DQ70D0OT0604 1/4 MDQ72D0TS604 1/4 FEMALE TEE Includes Thrust Washer & O-Ring BULKHEAD CONNECTOR STYLE G P' 570 PART # DRAIN COCK
DQ69DOT0402 1/8 STYLE GP-935 . Metric . H ;
3/8 MDQ72D0TS802 8 14 STYLE GP-025 imperil OSE BARBS
DQ68DOT0302 3/16 1/8 DOG9DOT0404 " A DQ70DOT0606 38 HOSE BARB ADAPTORS 90 DEG MALE - FEMALE ELBOW - — PART # NPSF  METRIC METRIC THREADS GP-XD-16  1/4 NPT PULL CHORD
MDQ72D0TS1004 10 1/4 Imperial Metric PART # NPSF BSPP Imperial to Metric includes Thrust Washer & O-Ring - 7
UvEDOTONZ v PasspOTOd I ggzggglgig: L 1 MDQ72D0TS1204 12 14 PART # X-REF HOSE GP-035-M16 M16 OF-07-02A v Mz
1/2 3 = F 1 H H PART # HOSE METRIC o
DQ68D0TO0404 " 1/4 DQ69D0TO602 1/8 / STYLE GP-93 PARTH METRIC GP-072-04M14A 1/4 M14 OP-082:04088 " o 3; \QEE; fopsgssizs
DO68DOT0406 DQ6IDOTO604 1/4 — GP-935-06  CA93-8 38 ADAPTOR DUST COVER o -035- GP-082-08012F 12 3/4 GP-570-08M16A 12 M16 : .
STYLE DQ62DOT / A DO5SDOTOR06 3/8 3;8 STYLE MDQ72DOTS GP-935-03 — "2 Place over adaptors S 2 A M18 GP-035:M22 — GP-072-04M16A 1/4 M16 / / Metric Includes Nut, Thrust Washer & O-ring
DQ68DOT0408 12 SWIVEL MALE BRANCH TEE -935- : GP-570-08M22A 12 M22 MALE
Dee2DOT DQ68DOTO602 /8 DQ69D0T0608 112 A D 2o e PART# ADACDVER GP-072-04M22R " M22 P nas2 GP-570-012M22A  3/4 M22 e HOSE - anu STYLE GP-TW
UNION MALE - FEMALE AL )
imperial and Metric Tube DO6BDOTOR0 1/4 DQ69DOT0804 1/ PART No TUBEQD  METHC GP-93-97 With nut & bolt GP-072-06M16A 38 M16 BULKHEAD CONNECTORS GP-579-08M16A 12 M16 e albiu i b e
DQ69DOT0806 112 38 L GP-072-06M22A 38 M2 g
PART No TUBE0.D DQ68DOT0606 3/8 3/8 . 0 STYLE DQ70DOTS MDQ72D0OTS6M12 6 M12x1.5 PART # NPT NPSF  BSPP ") R vTvlll\RslllisEIl e
GP-072-08M22A 12 W /
DQ62P02 (NON-DOT) 8 DO68DOT0608 12 D69D0T1005 P SWIVEL FEMALE ELBOW MDQ72D0TS10M16 10 M16xI.5 ! M22 NG, oy GP-TW-M12 12mm
DOBDOTORN - 5/8 imperial Tube fo NPTF Female Pipe Thread GP-072-08M26 112 M26X15 GP-082-08012B 12 12 3/ r=s
DQ62D0T5/32 5/32 DQ69DOT1008 12 NPTF MDQ72D0TS12M16 M16x1.5 e e s : 4 GP-TW-M16 16mm
rus asher -RINg NOT supplie: or 2
DQ62D0T03 3/16 DQ68D0OT0804 1/4 DQ69D0T1208 3/4 1/2 PART No TUBE 0.D THREAD MDQ72D0TS12M22 M22x1.5 STYLE GP'026 . GP-TW-M22 29mm
DQ68DOT0806 12 38 DQ70DOTS604 378 174 SOCKET STYLE GP-048 P —— N N
Imperial A N | GP-TWOR-M12 12mm
DQ62D0T04 1/4 TS - STYLE DQ69DOTS 90 DEG MALE ELBOW = 7
DQ62D0TO6 38 SWIVEL MALE ELBOW STYLE GP-93 PART # NPSF et STYLE GP-673 GP-TWOR-M16 16mm
DQ68DOT1006 3/8 e N i s e ADAPTOR DEAD END STYLE GP-571 COMPACT SILENCERS
p ube fo ale Pipe Threa STYLE GP-936 - PART # NPT HOSE BARB MALE RUN TEE e GP-TWOR-M22 22mm
D062D0T08 i DQ68DOT1008 5/8 112 NPTF TRAILER COUPLING LOCK it GP-026-02 18 : , e
sl TUBE 0.0 THREAD Padlock included GP-048-02 1/8 — e
DQ62DOT10 5/8 DQ68DOT1012 3/4 PART # ADAPTOR DEAD END GP-026-0402 1/4 x1/8 = PART # BSP
DQ6IDOTSE/3202  5/32 1/8 EARTE HOSE HOSE NPT
DQ62DOTO6M10/7 3/8x10/7mm DQ68DOTI208 12 4 4 4 ke TO SUIT op.gzgg  Deadendinc. washer, GP-026-04 1/4 GP-048-04 1/4 STYLE GP-072 GP-673-02 /8
MDO62D0TA Amm DOGBDOTIZIZ 3/ a4 e /8 STYLE DQ71DOT GP-936-CLM GP-931-08 spring washer & nut GP-026-0604 38 x 1/4 GP-048-0604 XA ﬁfQZf il o STYLE GP-425 R N s GP-673-04 14
DQ6IDOTS0304 14 MALE RUN TEE STYLE DQ77DOTS g i iy 45 DEG MALE FEMALE ELBOW
MDQ62D0T6 6 mm DOG9IDOTS0402 1/8 Imperlal Tube to NPTF Male Pipe Thread SWIVEL FEMALE BRANCH TEE GP-936-CLF GP-921-08 GP-026-06 3/8 GP-048-06 3/8 Imperial
MDQ62D0TS 8 mm STYLE MDQé68DOT 008900TS0408 " e ruseon NPT Imperial Tune To NPTF Female Pipe Thread GP-026-0806 12x3/8 GP-048-08 12 PART # R PART # NPSF NPT /“““'_‘*—\‘ 7
MALE CONNECTOR /
NPTF -072- V. - STYLE GPBV-500
MDQ62D0T9 9mm Metic Tube fo NPTF Male Pipe Thread 14 DQ71D0T0402 18 PART # TUBE  rupenp GP-026-08 "2 GP-072-06M16AB  3/8 M6 6P-475.02 - - M =
DO6IDOTS0406 3/8 S, " s P 072080 16AB " e {.@m g lBALIT lVALVES MALE/FEMALE
MDQ62D0T10 10 mm PART No Tl{l?nliwo).D TI-':II;I_EI_I;D DQ69DOTS0408 1/2 DQ77DOTS0604 3/8 1/4 GP-026-012 3/4 GP-425-04 1/4 1/4 | mperia
MPa&2D0T! thmm MDQ68D0T602 1/8 DO69DOTS0602 8 ﬁgxgg?ﬁgg I8 ]71 STYLE GP-93 STYLE GP-026 GP-425-06 3/8 3/8 PART # VALVE
3/8 STYLE GP-940 R 2
= 1/2MX1/2F
MDQ6200T12 12 mm MDQ68DOT604 1/4 DAGIDOTS0604 3/8 v DQ71DOT0806 112 38 FEMALE COUPLING - SEALING BULKHEAD ADAPTOR SOCKEY GP-425-08 12 12 STYLE GP-702 GPBV-500-01 NPTS ‘T HANDLE
MDQ62D0T 6 DQ69DOTS0606 38 imperial includes ferrule & nut Mo STYLE GP-573 TEE - MALE RUN TEE
6200T15 fomm MDQ68DOT606 38 Sl L <A HOSE BARB TEE et GPBV-500-03 MM AE
PART # METRIC ) - a i
MDQ62D0T16 16 mm MDQ68DOT608 1 DQ69DOTS0608 1/2 PART # X-REF NPSF PART # BULKHEAD ADAPTOR Imperial P NP BSP 'T' HANDLE
# SF  NPSF NPT
- 3/8MX3/8F
MDQ68DOT802 DA69DOTS0804 /4 GP-940-04  CA93-33 1/4 Non seal 3/8 tube x 1/2 HHE M12 STYLE GP-064 PART # T GPBV-500-05 NPTS T HANDLE
8DOTE0 e GP-93-109A  BSPP male bulkhead Aol GP-702-02 8 18 18
DQ6IDOTS0806 12 3/8 o ) ale bulknea GP-026-M16 M16 imperial GPBV-500-06 VIMX1/4F
MDQ68D0T804 8 1/4 GP-940-06 CA93-34 3/8 adaptor GP-573-02 1 NPTS 'T' HANDLE
DQ69DOTS0808 12 : STYLE DQ79DOT /8 GP-702-04 4 s 1
MDQ68DOT806 38 UNEQUAL UNION TEE GP-940-08  CA93-35 12 GP-026-M22 M22 PART # NPT STYLE GP-072 GP-573-03 3/16 GPBV-50007 GBMXIBF
DQ69DOTS1006 3/8 STYLE DQ71DOTS Imperial Tube ADAPTOR - BRASS GP-702-06 38 38 3B BSP 'T' HANDLE
MDQ68DOT1004 1/4 SWIVEL MALE RUN TEE GP-064-02 1/8 Metric Female fo imperial Male GP-573-04 1/4 —— - —— 12 MX 1/2F
; : -702- 172 12 -500-
MDQ68DOT1006 10 38 DQ69DOTS1008 5/8 1/2 Imperial Tube to NPTF Male Pipe Thread PART No TUBE 0.D B " oART # METRIC NPT GP-573-05 5/16 / /l / NPTS LEVER HANDLE
MDQ68D0T1008 12 DOGIDOTS10T2 Sk PART No TuBeoD T DQ79D0T0604 3/8X1/4X3/8 GP-064-06 38 S G - GP-573-06 3/8 - S
MDQ68DOT1204 1/4 DO63DOTS1208 L DQ71D0TS0402 DQ79DOT0O6M8 3/8X8X3/8 / GP-573-08 1/2 9
LI L " 34 e " = GP-064-08 12 GP-072-M1606 M6 38 STYLE GP-425S
STYLE DQ64DOT / MDQ68D0T1206 12 3/8 DQ71D0TS0404 1/ DQ79D0T0OBMS 1/2X8X1/2 STYLE GP-941 STYLE GP-93 g - 45 DEG MALE - FEMALE GP-573-010 5/8
8 -064- GP-072-M1608 M16 12
MDQ64DOT MDQ68DOT1208 112 STYLE MDQ69DOTS DQ7IDOTSO64 1/4 STYLE MDQ79DOT FEMALE COUPLING - NON SEALING | ByLKHEAD COUPLING - NON SEAL SHVELELOCW GP-573-012 34
IlganirioGI"lo:dElaetric Tube SW!VEL MACE ELBO.W DQ71DOTS0606 3/8 UNEQUAL UNION TEE i b IREES D &4 i B J GP-072-M1808 M18 1/2
Metric Tube to NPTF Male Pipe Thread DA71D0TS0804 14 Metric Tube PART # X-REF NPSF PART # STYLE GP-027 GP-072-M22F012 M22 3/4 PART # NPSF NPT :
PART No TUBE0.D TUBEOD  THREAD - STYLE GPBV-500
PART No (MM) NPTF DQ71D0OTS0806 12 3/8 PART No TUBE 0.0 GP-941-04  CA93-86 1/4 Non seal 3/8 tube x 1,2 HEX NIPPLE - IMPERIAL < ) B GP-4255-04 1/4 1/4 STYLE GP-735 BALL VALVES FEMALE/FEMALE
DQ64DOTS/32 5/32 MDQ69DOTS602 8 DQ71DOTS0808 112 T —— e [ —— 38 GP-93-112A  BSPP male bulkhead e = ﬂ,;::f Teey MALE BRANCILICE Imperiol
coupling F == | mperia
DO64DOTO3 3/16 - MDQ69DOTS604 5 /4 MDQ79D0T1206 12X3/8X12 GP-941-08  CA93-87 12 PART # NPT B STYLE GP-574 — J p—— PART # VALVE
MDQ69D0TS606 3/8 HOSE BARB JOINER
DQ64DOT04 1/4 STYLE DQ68DOT / GP-027-02 118 et 5P735.02 I I GPBV-500-02 .
DQ62DOTO5 5/16 MALE CONNECTOR MDQ69DOTS608 112 e — " -135- B S PBV-500.04 JIEXF
ST o Imperial Tube to Metric Thread MDQ69D0TS802 18 S " e - 6P.735.04 ” " " -500-0 NPToREXIRE
L= -027- 3/8FX3/8F
. " PART No TUBEOD  qhoea MDQ69DOTS804 14 — £z 2 . S / STYLE GP-064B GP-574-02 18" GP-735-06 38 38 38 ElrEi e NPTS T HANDLE
8 N S 4 & -027- 12 PLUG HEX - STEEL ; VAF
DO68DOT04M12 14 M12x15 MDQ6IDOTS806 38 ?J,X,LE'E m&QRZ,] ITDE?TS A I oaal STYLE GP-072 STYLE GP-434 GP-574-03 3/16 GP-735-08 VR T GPBV-500-10 s
DQ64DOTI0 5/8 STYLE DQ82DOT STYLE GP-950 GP-027-012 3/4 ADAPTOR - STEEL 45 DEG FEMALE ELBOW
DQ68DOTO6M12 M12x1.5 MDQ69DOTS808 12 higiric Tyaqo Matiig Thrakd MALE COUPLING - SEALING STYLE GP-93 Meric Female o imperial Male . GP-574-04 /4"
MDQ64D0T4 4mm BTG CANEL, impeial X BULKHEAD COUPLING - SEALING PART o i GP-574-05 16"
D0O68DOTO6M 14 38 M14x1.5 MDQ69D0TS1004 - 1/4 PART No Tl:mlo).n #qEnTEle Imperial Tube e e G STYLE GP-027 GP-064.04B ” PART # METRIC NPT OARTH \PSF -574- 5/16 GP TRUCK PRODUCTS /—\
DR S DQGBDOTO6M16 M16x1.5 MDQ69DOTS 1006 38 . PART No TUBE 0.0 PART # X-REF NPT S OP-674-08 I Victoria, Australia
MDQ64DOTS 8 mm MDQ71D0TS6M12 6 M12x1.5 PART # Imperial GP-064-06B 3/8 GP-072-M1604B M16 Fx1/4M GP-434-02 1/8 GP-574-08 12 y s 4
DQ68DOTO6M22 M22x1.5 MDQ6IDOTS1204 14 T T T ST " GP-950-04  CA93-30 14 ks Phone +61 3 95801811
MDQ64D0T10 1 : ) PART # NPT GP-064-08B 12 GP-072-M1608B M16 1/2 GP-434-04 1/4 .
0mm DSGOOTORMIE - MIBKLS MDQ6IDOTS1206 12 38 MDQ71D0TS12M16 M16x.5 DQ82D0T06 38 GP-950-06  CA3-31 38 e | SEDS e GP-574-010 58 Fax +61 3 95801822
-Jo- maie bu ea = = "
MDQ64DOT12 12 mm DQ68DOTOBMIZ2 M22x1.5 MDQ6IDOTS1208 112 MDQ7IDOTSIZMZ2  © M22xi5 DQ82D0T08 12 GP-950-08  CA3-32 12 coupling G 12 St A i R B Bt GP-434-06 38 GP-574-012 3/4 sales@gptruckproducts.com.au
Allen Key version available PO.A. WWW. ngruckpl’Od UCTSCOm .au TRUG—MPR@BUS



